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REA 380 | L;E ETIREPS 178
R KX 372 | LE B 8 168
=% EK 361 | ZE FEXR EX 131
KE HX 357 | &E AR B 125
=% ZEXH 354 LT B 121
J\& BR— 352 N AE 112
ER F=a 346 HE R 97
B fR== 342
=t 22,842




EFTERIERREE BEOEREHER(FA(DIAN)

BR22F4 30T EHTEREERE
1 RN - BEEY

LEBEEH (N B EE H N B ZE X (%)
5 | = B 5 | = B 5 | = E
#iz | 10945 10,733 | 21,678 9,055 8990 | 18,045 82.73 |  83.76 83.24
2. BRE - BYBRE
X 4 BEPRE EYIRE zoM | &t |
% 17,561 484 of 18,045 |
3. FEM
K £ 5 ZE K £ 5 ZE
ER BA 496 | L:E EE B 216
IO 381 | &% R BA 213
EE OIEAN 358 | L;E AR FEM 210
—EE EBE 356 | L% 50 &k 208
IAG HAfe 338 | &E B F— 206
KE HX 335 | &E g BXR 204
ik = 333 | &E #F xEB 199
SER X 328 | H5E HEf &= 199
T FARER 323 | LE AHE {EXER 196
BH RX 314 | &L5E XiF #5 195
BmE EA 295 | 4% AR EE 192
BE 1A 284 | &E B[R [EX 190
BHF = 274 | H5E IA\K EBE 187
Z KER 270 | ;% IR R 181
AT BER 269 | L% INE HEF 177
il A5 &= 266 | LE f2H £—EF 177
®E & 266 | L% BE #H3 176
) RE 8D 258 | H;E BH B8R 175
- Ml —K 257 | &E TiE FKRER 173
R F=5 253 | L:E EH AFE 173
KiEZ AR 246 | ZE fMeE K— 172
TH F=8 245 | L5E Al FS 172
NG BR 241 | &8 aX B 165
S 237 | &E fE & 165
B R==— 234 | H5E thHE =5 160
#H A 234 | L;E A B 160
REA 233 | &E xa K 158
AR KX 228 | L:E mE SR 154
A =i 227 | &E g 5 152
R FX 226 | ZE =1 r'1 152
WE —4% 225 hf IE— 152
EHE H— 224 i E®WAK 152
HE GE=HR 223 /J\Ey — BB 145
NIt B 217 E RN 141




EHFTESSZEEE BEROEEFRR(FAOLAN

K £ 5 ZE K £ 5 ZE
EH mBEX 140
W EA 139
AR xR 132
RO JTiA 131
HE B 128
BN #= 118
PR 118
Nt E& 110
XE HE 106
Tk X 103
LA & 91
o R 85
K {EHA 85
pA {RAXER 84
%2 IBE= 78
B FRER 77
A 18 72
HE R 72
SLTE R 65
Hig F— 58
=F A% 28

&t 17.561




EBMEREBREF BEORFHER(FADAL)
BH16E9A178 8T EHMEBEHERY
1 A - REEHK

LEBEEH (N B EE H N B ZE X (%)
5 | = B 5 | = B 5 | = E
% | 6,035 i 5,221 i 86.51
2 ;ﬁ)‘jj*ﬁm )‘)] X?R
| = % HENBRE ERE zof | &t |
| = 5,187 34 | 5,221 |
3. FEH
K £ 5 _E #H K £ 5 _E #H
g — 257 | &5E R RER 81| X
SR X 182 | &8 50 & 80
{38 #DKER 181 | &8 E BES 76
KE HX 174 | &8 B[R [EX 75
XE HE 161 | &% it BER 75
TH = 133 | &8 WH EA 74
STE B 131 | &8 AR EX 73
=2E B 128 | &8 IEiE Em 68
A HIRER 128 | &% JNE & 66
HE GE=HR 159 | &8 FIE E=ER 63
BE5 X=8 118 | &% AH FK 60
EE R 117 | 48 IME B 58
R B 115 | &8 =% #RPUER 58
il gk 2 109 | &% BE E=H0 58
R A=— 107 | &8 KK 56
) A BER 103 | &% HAH F AR 54
= 5@ &% 103 | %58 EK AE 54
B2R F— 102 | &8 rE B— 49
BEE BE 97 | H5E EiE FE 48
R F=5 96 | ZE MR A —ER 45
Wil g% 95 | &E TR GBI 44
FH KX 94 | &E BE E= 43
B FRPEER 93 | &LE AE IS 42
mE BEAKER 92 | &LE R 55— 41
ff B 88 | &E b 8 35
mEA fhmh 87 | &E SH = 34
EH H— 85 | &% AHE {EXER 33
WA AFE 82 | LE AR 8X 26
IME T 81 | &% = BAX 26
| TRk fE— 81| 53 AR ZH 13
£t 5,187

X BRBBIE O3AITOVTHEICEDIE, FHOBVENL2B N HE,



